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q=WC(01—0)
ZIT, 0=EDOAANLES 1 ONETOMRMEECC).,

0 a=ARURE(C), 1=EFKE S (m)
W = E&ifiE(ke/hr), q=HEE(k cal/hr). C=iiik D) Bk cal/ke"C).,
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R = #YEHi(mhr'C/ k cal)= X In(ro/rd)/ L } +1/ (a1r1) +1/ (@ or2)
L= EHEREWTEVE OBREZER (k cal/mhrC)
a =N EKHE DOBMREREL (k cal/m2hrC)
J&UE : @1=4.363(1 ¢/d)
ELIE © @ 1=(2¢/d)10.023(vd/ v ) 0-8Pr0-4}
A =R DOBYRE R (k cal/mhrC), d =&HNE(m)
v=EEE NG (m/s), v =BRE (m%s) . Pr="7"7 » M H(-)
a o = AR OEVRERS (k cal/m2hrC)
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F O RHEHTHEZET 5, FEATA-ZITRO K S22 5,
01=43C, 0a=35C, 1=600m. w=235600x103ke/hr, C=#J 1kcal/kg'C
2 =0.25 k cal/mhr"C(FRP), 1.48k cal/mhr’C (W EHEVEFN), A r=0.543 k cal/mhr'C
v =1.92m/s. v =0.67x10%m /s, Pr=4.4
ro/ri=1.2795m/1.25m(FRP), ro/ri=3.7795m/1.2795m(FRP), r1=1.25m, r2=3.7795m
a 2 =50k cal/mzhr°C (#£ 7€)

9. a1=(1¢/d){0.023(vd/ v ) 0-8Pr0.4}
=0.543/2. 5x{0. 023x (1. 92x2. 5/0. 67x10°%) *5x4, 4%*} =2754 k cal/m2hr'C
R =X{nGo/rd/1}+1/(air) +1/(aqrs)
=1n(1.2795/1.25) / 0.25+In(3.7795/1.2795) / 1.48+1/2754/1.25+1/50/3.7795
= 0.09330+0.73183+0.00029+0.00529=0.83071
0 =0a+(01— 0aexpl[—2xV/(WCR)]
=35+ (43— 35)exp(— 6.285x600/(35600x103x1x0.83071) = 35+ 8exp(— 1.275x10 %)
=42.999°C
q =WC(0 1— 0)=35600x10%x1x(43—42.999) = 35600 k cal/hr
o T, IRERE NIE 43—42.999=0.001°C & T< /NS FREBAI L 22\, T E W 234
REL ET-WE/FRP OWBEGIEBRKE VNS TH D, WEOKEGREE4 L FRP #&EI2T 5 &
R=0.0933x(0.25/14)+0.00029+ 0.00529=0.00725
0 =0a+(0i— 0a)exp[—2x1/(WCR)]
=35+ (43— 35)exp(— 6.285x600/(35600x103x1x0.00725) = 42.88°C
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dg % dOIZfRALT, dO*0*=—{2x/(WCR}dl (2725, ZhEfEy LT
In( 0 */ 0 *)=2 =z /(WCR) 0 *= 0 i*exp[—2 7 /(WCR)]
o T, 0=0a+(0i— 0aexp[—2xI/(WCR)]
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2B, A hi—0a)—(0 —0a)Ini( 0i— 0a)/(0 — 0 allE, MECFHIEELETH D,
Q=0 Qo CHDINH, 2xV/(WCR)=In{( 0i—0a)/(0 —0a), kD

0 =0a+(0i— 0a)exp[—2x1/(WCR)]
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0=0a+[l(0i— 0a)+x(0i— 0 a)}/(1+x)]exp[—2 7 /(WCR)/(1+x)]
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